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n7ka# show span vlan 6

VLANO00O06
Spanning tree enabled protocol rstp
Root ID Priority 24582
Address 0023 .04ee.bel1
This bridge is the root
Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec
Bridge ID Priority 24582 (priority 24576 sys-id-ext 6)
Address 0023 .04ee.bel1
Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec

Interface Role Sts Cost Prio.Nbr Type

Pol Desg FWD 1 128.4096 (vPC) P2p

Po3 Desg FWD 1 128.4098 (vPC peer-link) Network P2p
Eth4/8 Desg FWD 2 128.520 P2p

n7kb# show span vlan 6

VLANO0O6

Spanning tree enabled protocol rstp
Root ID Priority 24582

Address 0023.04ee.bell
Cost 1
Port 4098 (port-channel3)

Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec
Bridge ID Priority 28678 (priority 28672 sys-id-ext 6)

Address 0023.04ee.bel1

Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec

Interface Role Sts Cost Prio.Nbr Type
Pol Desg FWD 1 128.4096 (vPC) P2p
Po3 Root FWD 1 128.4098 (vPC peer-link) Network P2p

Eth4d/7 Desg FWD 2 128.519 P2p



vpc_sw# show span vlan 6

VLANO0O6

Spanning tree enabled protocol rstp
Root ID Priority 24582

Address 0023.04ee.bell
Cost 1
Port 4096 (port-channell)

Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec
Bridge ID Priority 61446 (priority 61440 sys-id-ext 6)

Address 6c9c.edde.6£43

Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec
Interface Role Sts Cost Prio.Nbr Type
Pol Root FWD 1 128.4096 P2p

non_vpc_sw# show span vlan 6
VLANO0O6

Spanning tree enabled protocol rstp
Root ID Priority 24582

Address 0023.04ee.bell
Cost 2
Port 392 (Ethernet3/8)

Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec
Bridge ID Priority 61446 (priority 61440 sys-id-ext 6)

Address 0022.557a.4343

Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec
Interface Role Sts Cost Prio.Nbr Type
Eth3/7 Altn BLK 2 128.391 P2p
Eth3/8 Root FWD 2 128.392 P2p
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Wlan & ract
VB Role: primary
Peer swikch
Bridge ID:BQ23, 8dee.befl
L3 Gateway

Nkl

n7kaf sh rid span
spanning-tree wlan 6,7 priority 24576
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non_vpc_sw# show span vlan 6
VLANO00O06

Spanning tree enabled protocol rstp
Root ID Priority 24582

Address 0023.04ee.bel1
Cost 2
Port 391 (Ethernet3/7)

Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec
Bridge ID Priority 61446 (priority 61440 sys-id-ext 6)

Address 0022.557a.4343

Hello Time 2 sec Max Age 20 sec Forward Delay 15 sec
Interface Role Sts Cost Prio.Nbr Type
Eth3/7 Root FWD 2
Eth3/8 Altn BLK 2 128.392 P2p

non_vpc_sw# show span vlan 6 det
VLAN0006 is executing the rstp compatible Spanning Tree protocol

Bridge Identifier has priority 61440, sysid 6, address 0022.557a.4343

Configured hello time 2, max age 20, forward delay 15

Current root has priority 24582, address 0023.04ee.bell

Root port is 391 (Ethernet3/7), cost of root path is 2

Topology change flag not set, detected flag not set

Number of topology changes 14 last change occurred 0:01:37 ago
from Ethernet3/7

Times: hold 1, topology change 35, notification 2
hello 2, max age 20, forward delay 15

Timers: hello 0, topology change 0, notification 0

n7ka# show span vlan 6 det
VLANO0006 is executing the rstp compatible Spanning Tree protocol

Bridge Identifier has priority 24576, sysid 6, address 0023.04ee.belO1
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Configured hello time 2, max age 20, forward delay 15

We are the root of the spanning tree

Topology change flag set, detected flag not set

Number of topology changes 28 last change occurred 0:01:37 ago
from port-channel3

Times: hold 1, topology change 35, notification 2
hello 2, max age 20, forward delay 15

Timers: hello 0, topology change 18, notification 0

n7kb# show span vlan 6 det

VLAN0006 is executing the rstp compatible Spanning Tree protocol
Bridge Identifier has priority 24576, sysid 6, address 0023.04ee.bel1
Configured hello time 2, max age 20, forward delay 15

We are the root of the spanning tree

Topology change flag set, detected flag not set

Number of topology changes 20 last change occurred 0:01:37 ago

from Ethernet4/7
Times: hold 1, topology change 35, notification 2
hello 2, max age 20, forward delay 15
Timers: hello 0, topology change 28, notification 0

vpc_sw# show span vlan 6 det
VLAN0006 is executing the rstp compatible Spanning Tree protocol
Bridge Identifier has priority 61440, sysid 6, address 6c9c.edde.6f43
Configured hello time 2, max age 20, forward delay 15
Current root has priority 24582, address 0023.04ee.bell
Root port is 4096 (port-channell), cost of root path is 1
Topology change flag not set, detected flag not set
Number of topology changes 23 last change occurred 0:01:37 ago
from port-channell
Times: hold 1, topology change 35, notification 2
hello 2, max age 20, forward delay 15
Timers: hello 0, topology change 0, notification 0
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https://tools.cisco.com/bugsearch/bug/CSCut31625
https://tools.cisco.com/bugsearch/bug/CSCuq57422
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https://tools.cisco.com/bugsearch/bug/CSCuf35758
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